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J| 2,000
A== 164,000 164,000 0
= 164,000
301 gtEd= 164,000 164,000 0
= 164,000
1MIIEBESS 164,000 164,000 0
Od=gdEXN=H 243 400, 000& *410ha 164,000
= 164,000
d=dx=a dEH XA 12,450 8,400 4,050
= 12,450
202 o4dl 12,450 8,400 4,050
= 12,450
01 = LH o4 1l 12,450 8,400 4,050
OLsYAZIAEMNH R =80
20,7503 x4H x150 12,450
= 12,450
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72,000
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90,000

72,000
18,000

90,000

500, 000& »180ha

AW

90,000

90,000

72,000
18,000

90,000

EUNLY

1,152,450

576,225
576,225

1,152,450

M

1,152,450

576,225
576,225

1,152,450

MIIEtEd =
OHMi=sIt BE

I N=NH

295,500 *3,900ha

M H

1,152,450

1,152,450

576,225
576,225

1,152,450

fir

Et&E THEHAIR XI&

Mo A

929,800

644,640
54,348
230,812

929,800

301

1)
x
H
0z
oy

MW

913,800

644,640
48,348
220,812

913,800

MIIEtEd =

OX MAXZFEHM X

O= Et&=2 MHHXI&

3,400,000 *237ha

2,400, 000% *45ha

HH A

913,800
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48,348
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913,800

402 2I2tXt=01 &

M

16,000

6,000
10,000
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t
2,000,000% *10ha*80/100

UL
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6,000
10,000
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A

378,720
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34,410
329,310

161,000

217,720




AN seIIsHE
|

M N sasda R & = S &
Sl JIEIRE FM 25 (el @2)
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Sl 4o X& 357,580 110,600 246,980
= 15,000
< 25,350
s 317,230
201 £B-2dH| 1,780 900 880
01 At 22l 900 900 0
Oget=gH| 900
— 2212 MilsIt ws Wi M=
10,000& 902 =13 900
03 &Ar2 I 880 0 880
Ofcle MEisIt s ZA=E
220,000& *2 Al 2t 23] 880
301 et a = 21,200 23,280 A 2,080
09 &AL HI B2 &S 1,200 3,280 A 2,080
ONBAY DT L A &
20,000& *60H 13| 1,200
(AP =S = 20,000 20,000 0
OxZY Ma ez N= 1,000&*20,000%E 20,000
307 21201 A 94,600 0 94,600
= 15,000
< 25,350
[ia 54,250
02 It S AHE L 94,600 0 94,600
OReclZ & XX
361, 110 *234ha*80/100 67,600
< 25,350
s 42,250
OSEZ M SEAY
30,000,000% *1JH 2~ %90/ 100 27,000
= 15,000
s 12,000
402 RI2EX20| N 240,000 86,420 153,580
01 212t 2 A B (REMTH ) 240,000 0 240,000
OxZY B2 M=
400,000,000 » 141 x60/100 240,000
NEE ESTHHHCEHX ZH ALY 21,140 50,400 229,260
= 9,060
s 12,080
402 RI2HXt20l ™ 21,140 50,400 229,260
< 9,060
s 12,080
02 It 2 AL EZ (OIS ) 21,140 50,400 A 29,260
OLNZE &= MUeX =4
3,020, 000& *10ha*70/100 21,140
< 9,060
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= 72,000
< 261,150
s 1,442,353
AEtdsg SAEAMY 29,840 219,940 A 190,100
< 7,000
s 22,840
201 £B-2d| 22,640 26,740 A 4,100
< 7,000
[ia 15,640
01 At 22l 7,040 6,740 300
Oget==EH| 3,800
—&dsd #=9 2 50, 000& 20 103 1,000
—dEd 225 7Y 10,000& x10& 83| 800
~#dazd 222 S MH
200 *10&+1,00004 2,000
o2g+g 840
— B HolSLHEAE SHsHE L &9
3 ¥ 32 F4 =Y 70,0003 6L *23] 840
O= &l 2,400
—HEY=AYY AREX
8,000 x2H 1504 2,400
03 & Ar2 I 15,600 20,000 A 4,400
OFSY S SH S BM NV XY YR
=3 800,000& »2CH 1,600
O848 29 XIF 1,400,000 109 £ 14,000
< 7,000
s 7,000
202 O4dl 4,000 4,000 0
01 S LHOIYI 4,000 4,000 0
OrSB=TAR =X 0Hl 20,0008 «4H x50 4,000
301 et d = 3,200 3,200 0
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= 108,000
= 144,000
St EdsHHX XA 289,863 247,000 42,863
307 2Iz2t0| A 272,363 232,000 40,363
02 DI AAIRE E X 272,363 232,000 40,363
OrEH=SHEI II%
2,880,000 x120ha*50/10 172,800
OFHBASAS 015242 X
399,370 x277= Jt+90/100 99,563
402 BI2H X 20| M 17,500 15,000 2,500
01 SIZtXIEANSEXR (MMM A) 17,500 15,000 2,500
OH MBHsIF 40| XA
250, 0002 *140ha*50/100 17,500
HEAAXMEX BSALY 3,000 2,400 600
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= 2,400
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307 glz2+ol & 837,000 679,338 157,662
< 57,600
i 779,400
02 RIZFE MM E X 837,000 679,338 157,662
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100, 000& *4,500ha*90/ 10 405,000
< 48,000
2 357,000
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[ia 422,400
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= 61,000
11IIEEAS 61,000 61,000 0
O edsgdAFR=H 802,630& *76ha 61,000
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< 6,000
[ia 6,000
301 L2 A F 12,000 10,500 1,500
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[ia 6,000
11IIEtEA S 12,000 10,500 1,500
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e 6,000
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< 7,000
s 9,300
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02 It M AHE L 16,300 0 16,300
OzEd sits Rsg4ds N
11,642,800 20 & 70/ 10 16,300
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100,000
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200,000

200,000
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62,000

22,000
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38,000
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O=dois ez g Al

5,000,000 174 2~

OZssRE 28425 NAAMS

4,000,000& =341 +50/100
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11,000

5,000
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11,000
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DI 2ASE X (01T R)
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OH Jiteld M= Al
5,000,000 124 2 +60/100

SURE
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30,000

3,000
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1,500

24,000

27,000

37,200

7,200
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M s HESH (=L - &)
o9l s4E RE HA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S22 (sl b/sg - &) 2,388,799 3,395,340 A 1,006,541
= 387,062
J| 56,000
< 340,998
s 1,604,739
st #X A 1,097,732 1,425,331 A 327,599
= 189,532
< 144,391
s 763,809
SHEO0F MUK EZBZAIE X2 304,315 353,605 A49,290
= 121,726
< 54,777
[ia 127,812
402 2I2H X201 M 304,315 353,605 A 49,290
= 121,726
< 54,777
[ia 127,812
02 QIZEH 2 A EZ (OIS ) 304,315 353,605 A49,290
Osgouxoe sss K&
30,431,500 »20H 2= x50/ 100 304,315
= 121,726
< 54,777
[ia 127,812
NS0 SHSHALS (L0 169,515 232,450 A 62,935
= 67,806
< 30,513
s 71,196
402 RI2HXt20l 169,515 232,450 A 62,935
= 67,806
< 30,513
[ia 71,196
02 2IZE 2 A EZ (OIS ) 169,515 232,450 A 62,935
OAME20 SUistAIS (Leraol)
16,951,500 2001 2 50/ 100 169,515
= 67,806
< 30,513
s 71,196
MEX Z2HE FHsIt ZHAMIAMY 126,000 351,000 A225,000
202 44l 1,000 1,000 0
01 = LH 4 b 1,000 1,000 0
OMEX sItE4d Z2HEAY FA WY
20,0003 x 1«50 1,000
402 RI2HXt20l M 125,000 100,000 25,000
01 212t 2 AL E = (REMTH ) 125,000 100,000 25,000
OMEX E2HE HUH=sIt ZHEMIAS
10,000, 000% 255 x50/ 100 125,000
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HM: SpS HES (sl a/sYH - s5)
o9l s4E RE HA CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
A, Y WA 23 497,902 428,276 69,626
== 59,101
= 438,801
202 04| 500 0 500
01 2Ll 500 0 500
ORHA, M AMAAZAIY =X O H]
20,0008 1 x5 500
301 et A= 1,000 2,000 A 1,000
09 HAIAHI EAZ 1,000 2,000 A 1,000
OMA, M FdMAAUSI NS Y SHALEA IS A
50,000& *10Y x23| 1,000
402 SI2vXH=20| ™ 496,402 426,276 70,126
o= 59,101
= 437,301
01 It EANSE X (MM HA) 282,000 180,000 102,000
OLNEZL sit= HEMA I&
2,432 ,000€ x125ha*50/ 100 152,000
O0lsHXEAIE SEUIAIE
4,000,000 *504! «50/100 100,000
OLXzES AZma2y AXXE
80,000 750X «50/ 100 30,000
02 CIZEXIEAISE X (0| XM THL) 214,402 246,276 N31,874
OO0ts MHAMEY sIIH X
5,000,000 *34CH 50/ 100 85,000
== 20,000
= 65,000
OLNEZL I AF JIHZ K&
5,000,000 *34CH 50/ 100 85,000
== 35,000
= 50,000
OE=HY X 43,000 284 XF+50/100 602
& 301
= 301
OdAS MAMAMAIAE SEUSAS
43,800,000 *2ha*50/100 43,800
& 3,800
o 40,000
SMHE K& €43 1,291,067 1,970,009 ANB78,942
= 197,530
J| 56,000
& 196,607
= 840,930
sHE 4 I 14,220 14,640 AN420
201 LBt Y| 9,420 10,640 N 1,220
01 AP 22| d| 9,420 10,640 N 1,220
Ogbt4=24| 7,000
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- _ _ RE]
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— 80 HE3 & 7Y 200,000 =103l 2,000
—ASNANY E2S M
2,500,000 23| 5,000
o2dx¢ 980
- REEnAoE Ad 4
70,000 *7H *23] 980
O=3&H| 1,440
—ASXY YRET S|
L0001 *x3H 54 128 1,440
202 o4l 4,800 4,000 800
01 2Ll 4,800 4,000 800
OAEXNE S2FX Yl 20,000& *3H »80 4,800
SESRE 29 22| 100,900 20,000 80,900
401 Al HI L 2 0HHI 100,900 20,000 80,900
01 Al& H| 100,000 20,000 80,000
OZ2EF=RIH A& 100,000,000 = 14! 100,000
03 AlE 201 | 900 0 900
OZ2ER2E AIEES AE20H]
100,000,000 *0.90/100 900
ANER0 “FAIE WA 365,116 514,325 A 149,209
== 57,116
= 308,000
402 RI2H X201 M 365,116 514,325 A 149,209
= 57,116
= 308,000
02 QIZEXIEAISE X (0| XM THL) 365,116 514,325 A 149,209
OMAMAAIALE U3 XS
9,320,000 x50 A *50/ 100 233,000
= 45,000
= 188,000
O&™IIHED] X& 16,514,500 *20CH 40/ 100 132,116
=} 12,116
iy 120,000
e 2 S =42 X 1,500 1,063 437
& 450
= 1,050
307 QI2t0| ™ 1,500 1,063 437
& 450
= 1,050
02 QI2tAAMAIE E =X 1,500 1,063 437
OLEsSMES(GAP)IZE==2 X
150,000& 10 1,500
= 450
- 1,050
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Al X1 &
= 2,330
< 301
s 700
307 21201 A 3,331 3,331 0
= 2,330
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02 LB AAFEX 3,331 3,331 0
OGAP 21E =D et e HAtHl XI&
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= 2,330
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[ia 700
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307 glz2+ol & 50,000 50,000 0
02 YAFHAANFEX 50,000 50,000 0
OU=SA0LAHE & HbEl X&
1,000, 000& *100ha*50/100 50,000
DI Z2HAE A 76,000 60,900 15,100
= 12,400
i 63,600
402 RI2EX=20l A 76,000 60,900 15,100
< 12,400
fia 63,600
02 LA TEALEZ(0IETHR) 76,000 60,900 15,100
OZJ|l dAAIE s X3
35,000, 000% 49 2~ *50/100 70,000
< 10,000
e 60,000
Og)l 28 /L2F(AR) 23 N
600 *20,0005=*50/100 6,000
< 2,400
e 3,600
s&E Mol 22 N 52,000 75,000 223,000
< 13,000
= 39,000
307 glz2+ol & 52,000 75,000 A23,000
< 13,000
s 39,000
02 QIZtE M AHE X 52,000 75,000 A 23,000
O=s&g Mol2gz XA
21,666,600% 65 = *40/100 52,000
< 13,000
e 39,000
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